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PREVIOUS KNOWLEDGE TEST UDM
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Algorithm for finding the area of a A when its vertices are given

Step 1 Write coordinates of the three vertices in three columns and repeat the coordinates of
the first vertex. EDUCATIONAL GROUP
. . Y ~hanging your Tomorrow Ml
Step 2 Draw the arrows pointing right downwards and pointing left downwards.

X, Xy Xy Xy
25, 2%, 2K

Step 3 We can calculate the area of the Aas follows :
x, |

.'l‘l :\‘2 .\‘3
y;><.y2.><i by |

[ Sum of the products pointing right downwards—
— Sum of the products pointing left downwards |

[

area of A=

_1
2

= 1| y, + x5 + X5y ) (X0, X3V, +x,93)|

Collinearity Condition

If three points A, B and C are collinear and B lies between A and C, then,
1. AB+ BC=AC. AB, BC, and AC can be calculated using the distance formula.
2.The ratio in which B divides AC, calculated using section formula for both the x and ycoordinates

separately will be equal.

3.Area of a triangle formed by three collinear points is zero.
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1.Students will be able to find the area of triangle when the coordinates of
its vertices are given.

2. Students will be able to find the area of a quadrilateral when the

coordinates of its vertices are given.

3. Students will be able to apply area of triangle to prove collinearity of
three points .

4. Students will be able to apply area of triangle to find an unknown when
three points are collinear.



1.Find the distance of'the point from P(2,3) from the x- axis.
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2. Find the distance between the points A(0,6)and B(0,-2) UDM%
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2. Find the distance between the points A(0,6)and B(0,-2)
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Q2. The distance between the points A(0, 6) and B(0, —2) is

(a) 6 (b) 8 (c) 4 (d) 2
Sol.(b):  AB = (x, — x;)* + (¥, — ;)

= J0-02+(-2-6)> =J0+ (-8 =64
=> AB = 8 units

Hence, verifies Ans (b).
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3.AOBC is a rectangle whose vertices area(0,3), O(0,0) &B(5,0).Find the length EDUCATIONAL GROUP
of its diagonal
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3.AOBC is a rectangle whose vertices area(0,3), O(0,0) &B(5,0).Find the length EDUCATIONAL GROUP
of its diagonal

Sol. (c): A (0, 3) and B(5, 0)
The length of diagonal = AB A 0,3) ¢
AB = (1,- 1) + (-3,
= (5-0/+(0-3
=25+9 0 B
5 AB= 3 verifiesAns. (¢ (0,0 50

(5 3)
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4.Find the perimeter of a triangle vertices (0,4),(0,0) and (3,0). EDUCATIONAL GROUP



4.Find the perimeter of a triangle vertices (0,4),(0,0) and (3,0).

", The perimeter of a triangle with vertices (? 4), (0, 0), and (3, 0) is
(@) 5 ®) 12 (0 11 @ 7+5
Sol. (b): Perimeter of AABC=AB +BC + AC
Let A(0, 4), B(0, 0), C(3, 0) be the three vertices of AABC.
AB? = (x; - %, +(y, =y,
=(0-00+(0-42=0+16

= AB = 16 =4cm
AC?=(3-0P+(0-42=9+16

= AC?=25

= AC=5cm
BC?=(3-02+(0-0)2=9+0

=> BC?=9

= BC=3cm
: Perimeter=4cm+5cm+3cm=12cm

Hence. verifiees Ans. (h).
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5. Find the area of the triangle with vertices (3,0),(7,0)and (8,4) UDM%
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5. Find the area of the triangle with vertices (3,0),(7,0)and (8,4) U—Dwm
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. The area of triangle with vertices A(3, 0), B(7, 0), and C(8, 4) is

(a) 14 (b) 28 (c) 8 (d) 6
Sol. (c): Area (A) of AABC whose vertices are A(3, 0), B(7, 0) and
C(8, 4) is given by

1
Area of AABC = E['ﬁ(.'lz = ¥Y3) + X (3 — ¥1) + X3(Y; — ¥)]
=%[3(0—4)+7(4—0):l~8(0-—0)]

= %[—12 +28+0]= %[16] = 8 sq.units
Hence, verifies the Ans. (c).



6. Find the fourth vertex of a parallelogram ABCD whose three vertices are U_DMJ
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6. Find the fourth vertex of a parallelogram ABCD whose three vertices
are A(-2,3),B(6,7) & C(8,3)

D 8, 3)

(e ¥a), (xg va)
(2 y2)

g'z 33) 6,7

The mid point Mid pomt of
of diagonal AC diagonal BD

- ( 2+8 3+3) (x4+6 y4+7)

2
6 6) (x4+6 y4+7)
= 2'2 2 7 2
X4 +6 y4+7)
= @, 3) (—2 P
Comparing both sides, we have
Xs +62 and y4—-'—7_=3
2
= x, +6=6 = Y +7=6
= x, = = Yy =6—-7=-1

The fourth vertex of parallelogram is (0, — 1) verifies ans. (b).
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7, The distance of the point P(-6, 8) from the origin is
(a) 8 (b) 247 (c) 10 d) 6
Sol. (c): Coordinates of origin are O(0, 0) and (-6, 8)
(OP) = (¥, —x)* + (¥, =)’
= (-6 -0)>+(8-0)>=36 + 64
OP = 100

= OP = 10 units. verifies ans. (c).
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HOME ASSIGNMENT Ex. 7.1 Q. No 1to Q8

AHA , )
The vertices of a AABC are A(4, 6), B(1, 5) and C(7, 2). A line is drawn to intersect
sides AB and AC at D and E respectively, such that AD/ AB=AE/AC =1/4 - Calculate
the area of the A ADE and compare it with the area of AABC.
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